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B.Com (PART I) EXAMINATION, 2017
GROUP B : ACCOUNTS AND LAW GROUP

Paper I11 : Finar;c_ia_l Accounting M. M. : I[}_[}_

Note : Attempt any three questions from Section'-A (L.ong Ans:wc;

Type Questions). Out of five questions and any five guestlons from Section-

t Answer T uestions) out of eight questions _

(et 3 A v e 4 & fovet At el & o
dferg | @ug ' (A 39T ¥E) @ 3173 W 1 @ fRe wie g9l & I QU

'@ug__‘ ' 20X 3=60

oyalty is T 1 per ton. Minimum Rent

1. A took a lease for 15 yel?rs. R
T 10,000. Each year’s shotwor i
E:;r}sr?atgut his recoupment should not be more than ¥ 4,00C in any year.

Output is as under : . _
1 000 tons, second year 3,000 tons, third year 15,000 tons,
First yeat L0 tons ;car 9,000 tons. There was strike for 3

fourth year 13,500 tons and fifth _ va
monthsyin the fourth year and lock-out for 3 months in the fifth year. There
is provision of 40% concession in minimum rent for the period of lock out

in the year of lockout and in the year of strike minimum rent will be

proportionate on the basis of actual working months.
Government grants, subsidy equal to 20% of the Unrecoupable short-

working. http://www.dbrauonline.com _
Prepare Landlord Account, Government Account and Shortworking

Account in the books of A. A close his books every year 31st December.
A3 T 7T 15 o ¥ fow fomni e o & w T 1 wfa e €1
forrn wiaad € 10,000 2 1 yedw @ 1 AgHE AR F e & gl H
fopal 51 Gl 2, AfwT 9% q9erEe Tt off o ¢ 4,000@341’%?67@’11‘7@'
IARA e TR §—
wer a0 7,000 2, T 79 3,000 <7, gda 7 15,000 =, =qd a4 1350
1 &R T 7 9,000 27 | 7 7Y & 4 e aA <@t Aen e 79 F A1
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king can be recouped in the next two .

wod duijuoneIqp mmm//:dpy



wod duljuoneiqp - mmam//:dny

B

< http://www.dbrauonline.com

3! “if',#’;zﬁ;gmw?::] mm%a“mmaqﬂ;tmﬁﬁtw 3

'ﬂ?ﬂﬂﬂmﬁﬁ"ﬂt T Tl 2 g e s s T

@R T A R AGHEH iy ¥ 20 w1
3 y-wrh @, W % % T fada er & 214

5 &aﬁmmtl BN T e e g | A T @ R
2. Satyam Company has its B

is Branch at 20% profit on in

hi ranch at Lucknow. Goods are invoiced 110
; ' ount i voice price. From the following details
Pwpﬁ% g%ml o tmhe books of Head Office showing Branch Profit.
gran & | Frifer Waﬁ?ﬂm 'qj ¢, R o qew W 20% T & 7 ﬁg
e 9 GRS — Wﬁﬂammmgqg@m

. 4

Goods supplied to Bra invoi i
ages Paid by Head Office Friea - 1,520

Rent paid by Head Office ﬁé@a@m‘iﬂq mmgﬁawlgq ) . 1,800
Sundry Expenses Paid by Head Office ‘
fafaw = (e wwte g yram) ’ 200
Cash Sales w&g fam) | : 24,800
Cash Received from Debtors 2=rY ¥ wra d%s 10,000
Credit Sales 3uR fogt ' 11,200

- Discount Allowed to Customers g &\ & T Hart ‘ 400
Goods Spoiled Tt T g7 100
Goods Returned by Customers Tr&s { il witerdr 200

3. What do you mean by Accounting Principles'? Explain its main
cl;%aéctcristics. oraE fag & Iy AR € 2 st e fasmaed 1 9UA
9 | :

- "4, What is the meaning of Hire-purchase System ? What is the
difference between Hire-Purchase System and Instalment Payment System ?
@mmﬁmwm%?%wmwﬁraﬂtmﬂ NUEIER FATRE S

5. Amrita, Sanjana and Sakshi are partners, the balance on their capital
accounts being ¥ 30,000; ¥ 25,000 and ¥ 20,000 respectively. In arriving at
these figures, the profits for the year ended 31st March, 2015 % 24,000 had
already been credited to partners in the ratio of 2 : 1 : 1. Their drawings
were 2 5,000, T 4,000 and T 3,000 respectively. Subsequently the following
omission were noticed and it was decided to bring them into Accounts;
Interest on capital at 10% p.a. and Interest on drawings Amrita < 250,
Sanjana ¥ 200 and Sakshi T 150.

Pass the necessary adjusting entry and prepare.Capital Accounts.
3Ty, werm 3R Wl e ISt @ % 9 wE: 20,000, ¥.25.000 a1 %

20,000 8, WEER € 13 99 31 74, 2015 F T = FT 24,000 AW H A F

Tva O A e 2 1 1% e W R T S e A <

5,000, T 4,000 7 T 3,000 1 =g § war =en fF Il W 10% aiffs R E =

TR SN R @ <) wEe T 250, T 200 7o T 150 o1, T o T
STEAvIF RIS 1 gfafe FHe gun 96 T TR
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T . @ ¥ TER a9y
1. Write the types and accounting rules of accounts

qaiwa ¥ fram fafeg _ . . in obi
2. What do you mean by Book-keeping ? Discuss its main objects.

QRATTE Q 9 F A § 2 T T I Fa | JpqmaR At 2T

3. What is a trial balance ? Why is it prepare

AR el ® 2 o
4. What is Statement of Affairs ? How does 1t differ from Balance

Sheet ? feafy firarcer 71 e Tew & 2 el ol fg 3 0 AR E 2 0%
5. State provision in respect of goodwill in As-10. A@EHT TH
@fa | T WiayE saRg | . L. .
6. What is Income and Expenditure Account ? Explain its main
characteristics. 3T4-=74 @ral 541 § ? 3qeh! 7 fadmang iRy | e
7. Under what circumstances partnership firm is dissolved ? &
&1 fagea f wlifeafodi § @ s @ 2 .
8. Write the meaning of adjustments. What adjustments are made at the

gndoftheycar?mwmiﬁmlaﬂﬁ—ﬁmﬁﬂﬁaﬁ%mﬁﬂﬁm
? .
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